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1 – Which of the following contribute N to both purine and pyrimidine:

     a)      glutamic acid.

     b)      glycine.

     c)      aspartic acid.

     d)      arginine.

     e)      ammonia.

2 – Severe combined immunodeficiency syndrome is:

     a)      associated with inhibition of ribonucleotide reductase.

     b)      associated with hyperurcemia.

     c)      associated with the accumulation of DGTP in red cells.
     d)      characterized by T–dysfunction only.

     e)      due to purine nucleophosphorylase deficiency.

3 – Which one of following is not a cause of gout?
     a)      overactivity of the regulated step in purine synthesis.

     b)      chronic renal insufficiency.

     c)      adenosine deaminase deficint.

     d)      HGPRT deficiency.

     e)      leukaemia and related malignancies.

4 – The following statements about nucleotides are correct except:

     a)      they function as carriers of activated intermediates of metabolism.
     b)      unusual bases are found occasionally in some viral DNA and TRNA.

     c)      ATP is reduced to DATP by nucleotide reductase.

     d)      they are structural components of several coenzymes.

     e)      the nitrogenous base is attached to C¹ of ribose.
5 – Carbamoyl phosphate synthetase:

     a)      is inhibited by ATP.

     b)      requires biotin as a coenzyme.

     c)      is inhibited by PRPP.

     d)      is present in the mitochondria.

     e)      is present in one of the domains of the same polypeptide chain.

6 – Which of the following statements about nucleotide metabolism is incorrect?

     a)      sulfonamides competitively inhibit purine synthesis in human.

     b)      IMP and OMP are parent purine and pyrimidine nucleotides, respectively.
     c)      the synthesis of AMP requires GTP.

     d)      AMP inhibits de novo purine synthesis.

     e)      folic acid analogs are competitive inhibitors of dihydrofolate reductase.

7 – All the following statements about PRPP are correct except:

     a)      it participates in purine and pyrimidine nucleotide synthesis.

     b)      PRPP synthetase is inhibited by Pi and stimulated by ATP.

     c)      its tissue levels increase in Lesch–Nyhan syndrome.

     d)      it participates in the salavage reactions of uracil base.

     e)      an intact HMP pathway is important for its synthesis.

8 – If the adenine content of DSDNA is 20% of the total bases, the guanine content:

     a)      10%.

     b)      20%.

     c)      30%.

     d)      40%.

     e)      60%.

9 – Which of the following statements about ds B–DNA is correct:

     a)      the only force that stabilizes the double helix is the presence of hydrogen
              bonds between complementary bases.

b) it is formed of 2 anti–parallel, right–banded helical structures.

c) there is 11 base per one complete turn of the helix.

d) it occurs naturally in the regions of DNA that have alternating purines and pyrimidines.

e) the planes of base pairs are tilted away from the perpendicular to the helical.

                                                        - (T) OR (F) -

1 – only DTMP and not other deoxypyrimidine nucleotide requires N5, N10 methylene

      tetrahydrofolate for its synthesis from DUMP.

2 – de novo synthesis of purines requires much more energy compared to that of their 

      salvage reactions.

3 – regeneration of reduced thioredoxin requires NADH + H+.

4 – DNA double helix has major and minor grooves.

5 – Glutamine is used for the transmation of UTP into CTP.

                                                            - STEM -                                                                      

 Flurouracil:
a) inhibits dihydrofolate reductase.

b) inhibits thymidylate synthatase.

c) inhibits folic acid synthesis.

d) is an analog of thymine. 

Good Luck
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